Warning: no access to tty (Bad file descriptor).
Thus no job control in this shell.
This is DQS job sih4.59062
----- GAMESS execution script -----
This job is running on host ga.fi.ameslab.gov at Mon Nov 1 20:22:46 CST 1999
Available scratch disk space (Kbyte units) at beginning of the job is
Filesystem         1024-blocks  Used Available Capacity Mounted on
/dev/hda8            7091081  196585  6527011      3%   /scr
cp sih4.inp /scr/mark/sih4.F05
unset echo
setenv IRCDATA ~/scr/sih4.irc
setenv INPUT /scr/mark/sih4.F05
setenv PUNCH ~/scr/sih4.dat
setenv AOINTS /scr/mark/sih4.F08
setenv MOINTS /scr/mark/sih4.F09
setenv DICTNRY /scr/mark/sih4.F10
setenv DRTFILE /scr/mark/sih4.F11
setenv CIVECTR /scr/mark/sih4.F12
setenv CASINTS /scr/mark/sih4.F13
setenv CIINTS /scr/mark/sih4.F14
setenv WORK15 /scr/mark/sih4.F15
setenv WORK16 /scr/mark/sih4.F16
setenv CSFSAVE /scr/mark/sih4.F17
setenv FOCKDER /scr/mark/sih4.F18
setenv DASORT /scr/mark/sih4.F20
setenv DFTINTS /scr/mark/sih4.F21
setenv JKFILE /scr/mark/sih4.F23
setenv ORDINT /scr/mark/sih4.F24
setenv EFPIND /scr/mark/sih4.F25
setenv PCMDATA /scr/mark/sih4.F26
setenv PCMINTS /scr/mark/sih4.F27
setenv DAFL30 /scr/mark/sih4.F30
setenv MCQD50 /scr/mark/sih4.F50
setenv MCQD51 /scr/mark/sih4.F51
setenv MCQD52 /scr/mark/sih4.F52
setenv MCQD53 /scr/mark/sih4.F53
setenv MCQD54 /scr/mark/sih4.F54
setenv MCQD55 /scr/mark/sih4.F55
setenv MCQD56 /scr/mark/sih4.F56
setenv MCQD57 /scr/mark/sih4.F57
setenv MCQD58 /scr/mark/sih4.F58
setenv MCQD59 /scr/mark/sih4.F59
setenv MCQD60 /scr/mark/sih4.F60
setenv MCQD61 /scr/mark/sih4.F61
setenv MCQD62 /scr/mark/sih4.F62
setenv MCQD63 /scr/mark/sih4.F63
setenv MCQD64 /scr/mark/sih4.F64
unset echo
ddikick.x sih4 /ho/mike/gamess gamess.21.x /scr/mark 1 ga.fi.ameslab.gov
Initiating 1 processes to run job sih4 
Executable gamess.21.x will be run from directory /ho/mike/gamess 
Working scratch directory on each host will be /scr/mark 
Running gamess.21.x on ga.fi.ameslab.gov as compute process 0 
Running gamess.21.x on ga.fi.ameslab.gov as data server 1 
Process initiation completed. 
1         ******************************************************
          *            GAMESS VERSION =  6 JUN 1999            *
          *             FROM IOWA STATE UNIVERSITY             *
          * M.W.SCHMIDT, K.K.BALDRIDGE, J.A.BOATZ, S.T.ELBERT, *
          *   M.S.GORDON, J.H.JENSEN, S.KOSEKI, N.MATSUNAGA,   *
          *          K.A.NGUYEN, S.J.SU, T.L.WINDUS,           *
          *       TOGETHER WITH M.DUPUIS, J.A.MONTGOMERY       *
          *         J.COMPUT.CHEM.  14, 1347-1363(1993)        *
          ******************* PC-UNIX VERSION ******************

 EXECUTION OF GAMESS BEGUN Mon Nov  1 20:22:49 1999

            ECHO OF THE FIRST FEW INPUT CARDS -
 INPUT CARD> $CONTRL  SCFTYP=RHF  RUNTYP=ENERGY MPLEVL=2   UNITS=ANGS                       
 INPUT CARD>  EXETYP=RUN   MULT=1 MAXIT=50            $END                                  
 INPUT CARD> $BASIS GBASIS=N31  NGAUSS=6  NDFUNC=1        $END                              
 INPUT CARD> $DATA                                                                          
 INPUT CARD> 6-31G(D) SIH4                                                                  
 INPUT CARD>CNV      2                                                                      
 INPUT CARD>                                                                                
 INPUT CARD> SI         14.0    .0000000000    .0000000000   -.0004514472                   
 INPUT CARD> H           1.0    .0000000000   1.2089218825    .8545264498                   
 INPUT CARD> H           1.0   1.2085160892    .0000000000   -.8558359763                   
 INPUT CARD> $END                                                                           
    1000000 WORDS OF MEMORY AVAILABLE

     BASIS OPTIONS
     -------------
     GBASIS=N31          IGAUSS=       6      POLAR=POPLE   
     NDFUNC=       1     DIFFSP=       F
     NPFUNC=       0      DIFFS=       F


     RUN TITLE
     ---------
  6-31G(D) SIH4                                                                  

 THE POINT GROUP OF THE MOLECULE IS CNV     
 THE ORDER OF THE PRINCIPAL AXIS IS     2

 ATOM      ATOMIC                      COORDINATES (BOHR)
           CHARGE         X                   Y                   Z
 SI         14.0      .0000000000         .0000000000        -.0008531115
 H           1.0      .0000000000       -2.2845310985        1.6148208394
 H           1.0      .0000000000        2.2845310985        1.6148208394
 H           1.0    -2.2837642603         .0000000000       -1.6172954856
 H           1.0     2.2837642603         .0000000000       -1.6172954856

          INTERNUCLEAR DISTANCES (ANGS.)
          ------------------------------

                    SI             H              H              H         

  1  SI               .0000000      1.4807023 *    1.4807023 *    1.4806059 *  
  2  H               1.4807023 *     .0000000      2.4178438 *    2.4181280 *  
  3  H               1.4807023 *    2.4178438 *     .0000000      2.4181280 *  
  4  H               1.4806059 *    2.4181280 *    2.4181280 *     .0000000    
  5  H               1.4806059 *    2.4181280 *    2.4181280 *    2.4170322 *  

                    H         

  1  SI              1.4806059 *  
  2  H               2.4181280 *  
  3  H               2.4181280 *  
  4  H               2.4170322 *  
  5  H                .0000000    

  * ... LESS THAN  3.000


     ATOMIC BASIS SET
     ----------------
 THE CONTRACTED PRIMITIVE FUNCTIONS HAVE BEEN UNNORMALIZED
 THE CONTRACTED BASIS FUNCTIONS ARE NOW NORMALIZED TO UNITY

 SHELL TYPE PRIM    EXPONENT          CONTRACTION COEFFICIENTS

 SI        

   1   S    1   16192.100000    1.994126 (   .001949) 
   1   S    2    2436.090000    3.671377 (   .014856) 
   1   S    3     556.001000    5.921983 (   .072569) 
   1   S    4     156.813000    7.758399 (   .245655) 
   1   S    5      50.169200    6.530219 (   .486060) 
   1   S    6      17.030000    1.946101 (   .325720) 

   2   L    7     293.350000    -.142963 (  -.002830)     7.671917 (   .004433) 
   2   L    8      70.117300    -.622974 (  -.036074)     9.382212 (   .032440) 
   2   L    9      22.430100    -.858038 (  -.116808)     9.304057 (   .133719) 
   2   L   10       8.194250     .323006 (   .093577)     6.457765 (   .326780) 
   2   L   11       3.147680    1.013414 (   .601705)     2.696118 (   .451139) 
   2   L   12       1.215150     .348152 (   .422072)      .480291 (   .264105) 

   3   L   13       1.653700    -.250061 (  -.240600)     -.040570 (  -.015177) 
   3   L   14        .540760     .033166 (   .073795)      .181865 (   .275139) 
   3   L   15        .204406     .225530 (  1.040940)      .153399 (   .783008) 

   4   L   16        .072384     .099458 (  1.000000)      .053517 (  1.000000) 

   5   D   17        .395000     .323932 (  1.000000) 

 H         

   8   S   18      18.731137     .214935 (   .033495) 
   8   S   19       2.825394     .364571 (   .234727) 
   8   S   20        .640122     .415051 (   .813757) 

   9   S   21        .161278     .181381 (  1.000000) 

 H         

  12   S   22      18.731137     .214935 (   .033495) 
  12   S   23       2.825394     .364571 (   .234727) 
  12   S   24        .640122     .415051 (   .813757) 

  13   S   25        .161278     .181381 (  1.000000) 

 TOTAL NUMBER OF SHELLS              =   13
 TOTAL NUMBER OF BASIS FUNCTIONS     =   27
 NUMBER OF ELECTRONS                 =   18
 CHARGE OF MOLECULE                  =    0
 STATE MULTIPLICITY                  =    1
 NUMBER OF OCCUPIED ORBITALS (ALPHA) =    9
 NUMBER OF OCCUPIED ORBITALS (BETA ) =    9
 TOTAL NUMBER OF ATOMS               =    5
 THE NUCLEAR REPULSION ENERGY IS       21.3272278642

     $CONTRL OPTIONS
     ---------------
     SCFTYP=RHF          RUNTYP=ENERGY       EXETYP=RUN     
     MPLEVL=       2     LOCAL =NONE         UNITS =ANGS    
     MULT  =       1     ICHARG=       0     MAXIT =      50
     NPRINT=       7     IREST =       0     COORD =UNIQUE  
     ECP   =NONE         NORMF =       0     NORMP =       0
     ITOL  =      20     ICUT  =       9     NZVAR =       0
     NOSYM =       0     INTTYP=POPLE        GEOM  =INPUT   
     PLTORB=       F     MOLPLT=       F     RPAC  =       F
     AIMPAC=       F     FRIEND=             CITYP =NONE    
     ISPHER=      -1     QMTTOL= 1.0E-06

     $SYSTEM OPTIONS
     ---------------
      REPLICATED MEMORY=     1000000 WORDS (ON EVERY NODE).
     DISTRIBUTED MEMDDI=           0 WORDS IN AGGREGATE,
     MEMDDI DISTRIBUTED OVER    1 PROCESSORS IS           0 WORDS/PROCESSOR.
     TOTAL MEMORY NEEDED ON EACH PROCESSOR=     1000000 WORDS.
     TIMLIM=     36000.0 SECONDS.
     COREFL=F     KDIAG= 0

          ----------------
          PROPERTIES INPUT
          ----------------

     MOMENTS            FIELD           POTENTIAL          DENSITY
 IEMOM =       1   IEFLD =       0   IEPOT =       0   IEDEN =       0
 WHERE =COMASS     WHERE =NUCLEI     WHERE =NUCLEI     WHERE =NUCLEI  
 OUTPUT=BOTH       OUTPUT=BOTH       OUTPUT=BOTH       OUTPUT=BOTH    
 IEMINT=       0   IEFINT=       0                     IEDINT=       0
                                                       MORB  =       0
          EXTRAPOLATION IN EFFECT
          SOSCF IN EFFECT

          ----------------------
          INTEGRAL INPUT OPTIONS
          ----------------------
 NOPK  =       1 NORDER=       0 SCHWRZ=       F

     -------------------------------
     INTEGRAL TRANSFORMATION OPTIONS
     -------------------------------
     NWORD  =       0     CUTOFF = 1.0E-09
     MPTRAN =       0     DIRTRF =       F
     AOINTS =DUP     

          -----------------------
          MP2 CONTROL INFORMATION
          -----------------------
          NCORE  =        5  CUTOFF = 1.00E-09
          LMOMP2 =        F  AOINTS = DUP     
          METHOD =        2  NWORD  =          0
          MP2PRP =        F  OSPT   = NONE    

          NUMBER OF CORE      ORBITALS =     5
          NUMBER OF OCC. -A-  ORBITALS =     9
          NUMBER OF OCC. -B-  ORBITALS =     9
          NUMBER OF MOLECULAR ORBITALS =    27
          NUMBER OF   BASIS  FUNCTIONS =    27


     ------------------------------------------
     THE POINT GROUP IS CNV, NAXIS= 2, ORDER= 4
     ------------------------------------------

     DIMENSIONS OF THE SYMMETRY SUBSPACES ARE
 A1  =  14      A2  =   1      B1  =   6      B2  =   6

 ..... DONE SETTING UP THE RUN .....
 STEP CPU TIME =      .04 TOTAL CPU TIME =         .0 (     .0 MIN)
 TOTAL WALL CLOCK TIME=        6.3 SECONDS, CPU UTILIZATION IS    .63%

          ********************
          1 ELECTRON INTEGRALS
          ********************
 ...... END OF ONE-ELECTRON INTEGRALS ......
 STEP CPU TIME =      .01 TOTAL CPU TIME =         .0 (     .0 MIN)
 TOTAL WALL CLOCK TIME=        6.6 SECONDS, CPU UTILIZATION IS    .75%

          -------------
          GUESS OPTIONS
          -------------
          GUESS =HUCKEL            NORB  =       0          NORDER=       0
          MIX   =       F          PRTMO =       F          SYMDEN=       F
          TOLZ  = 1.0E-08          TOLE  = 1.0E-05

 INITIAL GUESS ORBITALS GENERATED BY HUCKEL   ROUTINE.
 HUCKEL GUESS REQUIRES      8117 WORDS.

 SYMMETRIES FOR INITIAL GUESS ORBITALS FOLLOW.   BOTH SET(S).
     9 ORBITALS ARE OCCUPIED (    5 CORE ORBITALS).
     6=A1       7=A1       8=B2       9=B1      10=?B1     11=?B2     12=?A1 
    13=A1      14=A1      15=A1      16=A1      17=A1      18=A1      19=A1  
 ...... END OF INITIAL ORBITAL SELECTION ......
 STEP CPU TIME =      .05 TOTAL CPU TIME =         .1 (     .0 MIN)
 TOTAL WALL CLOCK TIME=        7.1 SECONDS, CPU UTILIZATION IS   1.40%

          --------------------
          2 ELECTRON INTEGRALS
          --------------------

 THE -PK- OPTION IS OFF, THE INTEGRALS ARE NOT IN SUPERMATRIX FORM.
 STORING   15000 INTEGRALS/RECORD ON DISK, USING 12 BYTES/INTEGRAL.
 TWO ELECTRON INTEGRAL EVALUATION REQUIRES   60787 WORDS OF MEMORY.
 II,JST,KST,LST =  1  1  1  1 NREC =         1 INTLOC =    1
 II,JST,KST,LST =  2  1  1  1 NREC =         1 INTLOC =    2
 II,JST,KST,LST =  3  1  1  1 NREC =         1 INTLOC =   34
 II,JST,KST,LST =  4  1  1  1 NREC =         1 INTLOC =  214
 II,JST,KST,LST =  5  1  1  1 NREC =         1 INTLOC =  776
 II,JST,KST,LST =  6  1  1  1 NREC =         1 INTLOC = 2864
 II,JST,KST,LST =  7  1  1  1 NREC =         1 INTLOC = 2864
 II,JST,KST,LST =  8  1  1  1 NREC =         1 INTLOC = 2864
 II,JST,KST,LST =  9  1  1  1 NREC =         1 INTLOC = 5392
 II,JST,KST,LST = 10  1  1  1 NREC =         1 INTLOC = 8821
 II,JST,KST,LST = 11  1  1  1 NREC =         1 INTLOC = 8821
 II,JST,KST,LST = 12  1  1  1 NREC =         1 INTLOC = 8821
 II,JST,KST,LST = 13  1  1  1 NREC =         1 INTLOC =12895
 TOTAL NUMBER OF NONZERO TWO-ELECTRON INTEGRALS =               18157
          2 INTEGRAL RECORDS WERE STORED ON DISK FILE  8.
  ...... END OF TWO-ELECTRON INTEGRALS .....
 STEP CPU TIME =      .24 TOTAL CPU TIME =         .3 (     .0 MIN)
 TOTAL WALL CLOCK TIME=        8.7 SECONDS, CPU UTILIZATION IS   3.90%

          -------------------
          RHF SCF CALCULATION
          -------------------

     NUCLEAR ENERGY =        21.3272278642
     MAXIT =   50     NPUNCH=    2
     EXTRAP=T  DAMP=F  SHIFT=F  RSTRCT=F  DIIS=F  DEM=F  SOSCF=T
     DENSITY CONV=  1.00E-05
     SOSCF WILL OPTIMIZE     162 ORBITAL ROTATIONS, SOGTOL=    .250
     MEMORY REQUIRED FOR RHF STEP=     36129 WORDS.

 ITER EX DEM  TOTAL ENERGY      E CHANGE  DENSITY CHANGE     ORB. GRAD
   1  0  0  -291.086909241  -291.086909241    .087581477    .000000000
          ---------------START SECOND ORDER SCF---------------
   2  1  0  -291.219283774     -.132374534    .026176597    .014362901
   3  2  0  -291.224126955     -.004843181    .017817228    .004599494
   4  3  0  -291.224607135     -.000480180    .001882615    .000611706
   5  4  0  -291.224611065     -.000003929    .000788554    .000164168
   6  5  0  -291.224611318     -.000000254    .000038660    .000008219
   7  6  0  -291.224611319     -.000000001    .000004894    .000001605
   8  7  0  -291.224611319      .000000000    .000000077    .000000051

          -----------------
          DENSITY CONVERGED
          -----------------
     TIME TO FORM FOCK OPERATORS=        .1 SECONDS (        .0 SEC/ITER)
     TIME TO SOLVE SCF EQUATIONS=        .0 SECONDS (        .0 SEC/ITER)

 FINAL ENERGY IS     -291.2246113188 AFTER   8 ITERATIONS  SCF energy

          ------------
          EIGENVECTORS
          ------------

                      1          2          3          4          5
                  -68.7707    -6.1287    -4.2344    -4.2344    -4.2344
                     A1         A1         B1         B2         A1  
    1  SI  1  S    .996863   -.268204    .000000    .000000    .000002
    2  SI  1  S    .012473   1.030444    .000000    .000000   -.000006
    3  SI  1  X    .000000    .000000    .994957    .000000    .000000
    4  SI  1  Y    .000000    .000000    .000000    .994957    .000000
    5  SI  1  Z    .000000    .000005    .000000    .000000    .994957
    6  SI  1  S   -.016805    .007448    .000000    .000000    .000004
    7  SI  1  X    .000000    .000000    .019180    .000000    .000000
    8  SI  1  Y    .000000    .000000    .000000    .019180    .000000
    9  SI  1  Z    .000000    .000000    .000000    .000000    .019181
   10  SI  1  S    .001423   -.001862    .000000    .000000   -.000003
   11  SI  1  X    .000000    .000000   -.003923    .000000    .000000
   12  SI  1  Y    .000000    .000000    .000000   -.003922    .000000
   13  SI  1  Z    .000000    .000000    .000000    .000000   -.003920
   14  SI  1 XX    .005926    .001489    .000000    .000000   -.000766
   15  SI  1 YY    .005926    .001489    .000000    .000000    .000763
   16  SI  1 ZZ    .005926    .001489    .000000    .000000   -.000001
   17  SI  1 XY    .000000    .000000    .000000    .000000    .000000
   18  SI  1 XZ    .000000    .000000   -.000881    .000000    .000000
   19  SI  1 YZ    .000000    .000000    .000000    .000883    .000000
   20  H   2  S   -.000064    .000385    .000000   -.000777    .000550
   21  H   2  S    .000271   -.000180    .000000    .000880   -.000622
   22  H   3  S   -.000064    .000385    .000000    .000777    .000550
   23  H   3  S    .000271   -.000180    .000000   -.000880   -.000622
   24  H   4  S   -.000064    .000385   -.000778    .000000   -.000551
   25  H   4  S    .000271   -.000181    .000880    .000000    .000625
   26  H   5  S   -.000064    .000385    .000778    .000000   -.000551
   27  H   5  S    .000271   -.000181   -.000880    .000000    .000625

                      6          7          8          9         10
                    -.7298     -.4847     -.4846     -.4846      .1641
                     A1         A1         B2         B1         B1  
    1  SI  1  S    .053270    .000004    .000000    .000000    .000000
    2  SI  1  S   -.259586   -.000017    .000000    .000000    .000000
    3  SI  1  X    .000000    .000000    .000000   -.164373   -.045684
    4  SI  1  Y    .000000    .000000   -.164372    .000000    .000000
    5  SI  1  Z    .000021   -.164399    .000000    .000000    .000000
    6  SI  1  S    .515195    .000039    .000000    .000000    .000000
    7  SI  1  X    .000000    .000000    .000000    .418857    .117165
    8  SI  1  Y    .000000    .000000    .418854    .000000    .000000
    9  SI  1  Z   -.000041    .418914    .000000    .000000    .000000
   10  SI  1  S    .093655    .000013    .000000    .000000    .000000
   11  SI  1  X    .000000    .000000    .000000    .053145   1.483746
   12  SI  1  Y    .000000    .000000    .053109    .000000    .000000
   13  SI  1  Z    .000015    .053082    .000000    .000000    .000000
   14  SI  1 XX    .019989   -.090190    .000000    .000000    .000000
   15  SI  1 YY    .020003    .090233    .000000    .000000    .000000
   16  SI  1 ZZ    .020050   -.000032    .000000    .000000    .000000
   17  SI  1 XY    .000000    .000000    .000000    .000000    .000000
   18  SI  1 XZ    .000000    .000000    .000000   -.104240    .107292
   19  SI  1 YZ    .000000    .000000    .104216    .000000    .000000
   20  H   2  S    .130888    .164236   -.232275    .000000    .000000
   21  H   2  S    .103055    .199110   -.281643    .000000    .000000
   22  H   3  S    .130888    .164236    .232275    .000000    .000000
   23  H   3  S    .103055    .199110    .281643    .000000    .000000
   24  H   4  S    .130905   -.164236    .000000   -.232280    .084992
   25  H   4  S    .103063   -.199069    .000000   -.281654    .903759
   26  H   5  S    .130905   -.164236    .000000    .232280   -.084992
   27  H   5  S    .103063   -.199069    .000000    .281654   -.903759

                     11         12         13         14         15
                     .1642      .1642      .2548      .3371      .3714
                     B2         A1         A1         A1         B2  
    1  SI  1  S    .000000    .000021   -.060086    .027048    .000000
    2  SI  1  S    .000000   -.000096    .085485   -.174172    .000000
    3  SI  1  X    .000000    .000000    .000000    .000000    .000000
    4  SI  1  Y   -.045647    .000000    .000000    .000000   -.290363
    5  SI  1  Z    .000000   -.045544    .000020   -.000592    .000000
    6  SI  1  S    .000000    .000274  -1.535668    .162405    .000000
    7  SI  1  X    .000000    .000000    .000000    .000000    .000000
    8  SI  1  Y    .117047    .000000    .000000    .000000   1.352917
    9  SI  1  Z    .000000    .116757   -.000111    .002654    .000000
   10  SI  1  S    .000000    .000370   2.046550   3.206242    .000000
   11  SI  1  X    .000000    .000000    .000000    .000000    .000000
   12  SI  1  Y   1.484262    .000000    .000000    .000000   -.704192
   13  SI  1  Z    .000000   1.485212    .000192   -.002790    .000000
   14  SI  1 XX    .000000    .092900   -.088569    .031320    .000000
   15  SI  1 YY    .000000   -.092919   -.088625    .031185    .000000
   16  SI  1 ZZ    .000000    .000066   -.088613    .030762    .000000
   17  SI  1 XY    .000000    .000000    .000000    .000000    .000000
   18  SI  1 XZ    .000000    .000000    .000000    .000000    .000000
   19  SI  1 YZ   -.107291    .000000    .000000    .000000   -.052625
   20  H   2  S    .084963   -.060112    .010548   -.115089   -.011140
   21  H   2  S    .904001   -.639753   -.125892  -1.268136    .463468
   22  H   3  S   -.084963   -.060112    .010548   -.115089    .011140
   23  H   3  S   -.904001   -.639753   -.125892  -1.268136   -.463468
   24  H   4  S    .000000    .059980    .010573   -.115120    .000000
   25  H   4  S    .000000    .639342   -.125801  -1.267763    .000000
   26  H   5  S    .000000    .059980    .010573   -.115120    .000000
   27  H   5  S    .000000    .639342   -.125801  -1.267763    .000000

                     16         17         18         19         20
                     .3714      .3714      .7116      .7116      .8117
                     B1         A1         A1         A2         B1  
    1  SI  1  S    .000000   -.000062    .000009    .000000    .000000
    2  SI  1  S    .000000    .000376   -.000089    .000000    .000000
    3  SI  1  X   -.290357    .000000    .000000    .000000    .017737
    4  SI  1  Y    .000000    .000000    .000000    .000000    .000000
    5  SI  1  Z    .000000   -.290363    .000007    .000000    .000000
    6  SI  1  S    .000000   -.000457   -.000062    .000000    .000000
    7  SI  1  X   1.352888    .000000    .000000    .000000    .082116
    8  SI  1  Y    .000000    .000000    .000000    .000000    .000000
    9  SI  1  Z    .000000   1.352982   -.000035    .000000    .000000
   10  SI  1  S    .000000   -.007165    .002797    .000000    .000000
   11  SI  1  X   -.704529    .000000    .000000    .000000    .940037
   12  SI  1  Y    .000000    .000000    .000000    .000000    .000000
   13  SI  1  Z    .000000   -.703429   -.000010    .000000    .000000
   14  SI  1 XX    .000000    .045590   -.500351    .000000    .000000
   15  SI  1 YY    .000000   -.045792   -.499583    .000000    .000000
   16  SI  1 ZZ    .000000   -.000034   1.000033    .000000    .000000
   17  SI  1 XY    .000000    .000000    .000000   1.000000    .000000
   18  SI  1 XZ    .052627    .000000    .000000    .000000   -.954077
   19  SI  1 YZ    .000000    .000000    .000000    .000000    .000000
   20  H   2  S    .000000    .008117   -.000075    .000000    .000000
   21  H   2  S    .000000   -.325180   -.001090    .000000    .000000
   22  H   3  S    .000000    .008117   -.000075    .000000    .000000
   23  H   3  S    .000000   -.325180   -.001090    .000000    .000000
   24  H   4  S   -.011133   -.007619   -.000064    .000000   -.313944
   25  H   4  S    .463285    .330977   -.001137    .000000   1.240397
   26  H   5  S    .011133   -.007619   -.000064    .000000    .313944
   27  H   5  S   -.463285    .330977   -.001137    .000000  -1.240397

                     21         22         23         24         25
                     .8117      .8118     1.2344     1.4342     1.4343
                     B2         A1         A1         A1         B2  
    1  SI  1  S    .000000   -.000006   -.029086   -.000007    .000000
    2  SI  1  S    .000000    .000011    .139877    .000035    .000000
    3  SI  1  X    .000000    .000000    .000000    .000000    .000000
    4  SI  1  Y    .017721    .000000    .000000    .000000   -.115008
    5  SI  1  Z    .000000    .017669    .000008   -.115068    .000000
    6  SI  1  S    .000000   -.000177   -.634328   -.000154    .000000
    7  SI  1  X    .000000    .000000    .000000    .000000    .000000
    8  SI  1  Y    .082185    .000000    .000000    .000000    .391537
    9  SI  1  Z    .000000    .082510   -.000135    .391747    .000000
   10  SI  1  S    .000000    .000369   2.744554    .000647    .000000
   11  SI  1  X    .000000    .000000    .000000    .000000    .000000
   12  SI  1  Y    .940352    .000000    .000000    .000000   -.391930
   13  SI  1  Z    .000000    .940884   -.000639   -.392270    .000000
   14  SI  1 XX    .000000   -.826208    .164512   -.570651    .000000
   15  SI  1 YY    .000000    .826670    .164013    .571003    .000000
   16  SI  1 ZZ    .000000   -.000404    .164275   -.000283    .000000
   17  SI  1 XY    .000000    .000000    .000000    .000000    .000000
   18  SI  1 XZ    .000000    .000000    .000000    .000000    .000000
   19  SI  1 YZ    .954177    .000000    .000000    .000000    .659391
   20  H   2  S   -.313875    .221970    .707465   -.702195    .993197
   21  H   2  S   1.240391   -.877438  -1.411431    .549490   -.777336
   22  H   3  S    .313875    .221970    .707465   -.702195   -.993197
   23  H   3  S  -1.240391   -.877438  -1.411431    .549490    .777336
   24  H   4  S    .000000   -.221784    .707321    .702457    .000000
   25  H   4  S    .000000    .877087  -1.411878   -.550086    .000000
   26  H   5  S    .000000   -.221784    .707321    .702457    .000000
   27  H   5  S    .000000    .877087  -1.411878   -.550086    .000000

                     26         27
                    1.4345     2.6356
                     B1         A1  
    1  SI  1  S    .000000    .144190
    2  SI  1  S    .000000   -.659706
    3  SI  1  X   -.114996    .000000
    4  SI  1  Y    .000000    .000000
    5  SI  1  Z    .000000   -.000006
    6  SI  1  S    .000000   6.020293
    7  SI  1  X    .391582    .000000
    8  SI  1  Y    .000000    .000000
    9  SI  1  Z    .000000    .000012
   10  SI  1  S    .000000    .130672
   11  SI  1  X   -.391718    .000000
   12  SI  1  Y    .000000    .000000
   13  SI  1  Z    .000000   -.000095
   14  SI  1 XX    .000000  -2.564274
   15  SI  1 YY    .000000  -2.564269
   16  SI  1 ZZ    .000000  -2.564293
   17  SI  1 XY    .000000    .000000
   18  SI  1 XZ   -.659697    .000000
   19  SI  1 YZ    .000000    .000000
   20  H   2  S    .000000    .169622
   21  H   2  S    .000000   -.237237
   22  H   3  S    .000000    .169622
   23  H   3  S    .000000   -.237237
   24  H   4  S    .993225    .169666
   25  H   4  S   -.777142   -.237312
   26  H   5  S   -.993225    .169666
   27  H   5  S    .777142   -.237312
 ...... END OF RHF CALCULATION ......
 STEP CPU TIME =      .14 TOTAL CPU TIME =         .5 (     .0 MIN)
 TOTAL WALL CLOCK TIME=       26.0 SECONDS, CPU UTILIZATION IS   1.85%

 --------------------------   ----------------------------------------------
 RHF-MP2 ENERGY CALCULATION   PROGRAM WRITTEN BY M.DUPUIS,C.DANIEL,A.MARQUEZ
 --------------------------   ----------------------------------------------
 NCORE=   5     NOCC=    9     NAOS=   27

 MEMORY REQUIREMENTS FOR SEGMENTED MP2 TRANSFORMATION
   MINIMUM=     43095 WORDS, USING 1 MOLECULAR ORBITAL PER PASS
   MAXIMUM=     73713 WORDS, MAKING ONLY 1 INTEGRAL PASS
 CHOOSING THE SEGMENTED MP2 TRANSFORMATION...
   NUMBER OF MOS/PASS =    4
   NUMBER OF PASSES   =    1
   MEMORY USED =      73713 WORDS.
 PASS #   1 TOOK         .04 SECONDS.
 DONE WITH PARTIAL TRANSFORMATION (PQ|RS) TO (IA|JB)

 RESULTS OF MOLLER-PLESSET 2ND ORDER CORRECTION ARE
               E(0)=      -291.2246113188
               E(1)=         0.0
               E(2)=         -.0831030059
             E(MP2)=      -291.3077143247
 ..... DONE WITH MP2 ENERGY .....
 STEP CPU TIME =      .04 TOTAL CPU TIME =         .5 (     .0 MIN)
 TOTAL WALL CLOCK TIME=       26.6 SECONDS, CPU UTILIZATION IS   1.95%

          -----------------
          ENERGY COMPONENTS
          -----------------

         WAVEFUNCTION NORMALIZATION =       1.0000000000

                ONE ELECTRON ENERGY =    -445.5308574393
                TWO ELECTRON ENERGY =     132.9790182564
           NUCLEAR REPULSION ENERGY =      21.3272278642
                                      ------------------
                       TOTAL ENERGY =    -291.2246113188

 ELECTRON-ELECTRON POTENTIAL ENERGY =     132.9790182564
  NUCLEUS-ELECTRON POTENTIAL ENERGY =    -736.6416896544
   NUCLEUS-NUCLEUS POTENTIAL ENERGY =      21.3272278642
                                      ------------------
             TOTAL POTENTIAL ENERGY =    -582.3354435339
               TOTAL KINETIC ENERGY =     291.1108322151
                 VIRIAL RATIO (V/T) =       2.0003908446

          ---------------------------------------
[bookmark: _GoBack]          MULLIKEN AND LOWDIN POPULATION ANALYSES  same as HF, not MP2
          ---------------------------------------

     MULLIKEN ATOMIC POPULATION IN EACH MOLECULAR ORBITAL

                      1          2          3          4          5

                  2.000000   2.000000   2.000000   2.000000   2.000000

    1             1.999968   2.000124   2.000103   2.000103   2.000103
    2              .000008   -.000031    .000000   -.000052   -.000026
    3              .000008   -.000031    .000000   -.000052   -.000026
    4              .000008   -.000031   -.000052    .000000   -.000026
    5              .000008   -.000031   -.000052    .000000   -.000026

                      6          7          8          9

                  2.000000   2.000000   2.000000   2.000000

    1             1.160107    .808818    .808712    .808771
    2              .209946    .297810    .595644    .000000
    3              .209946    .297810    .595644    .000000
    4              .210001    .297781    .000000    .595614
    5              .210001    .297781    .000000    .595614

               ----- POPULATIONS IN EACH AO -----
                             MULLIKEN      LOWDIN
              1  SI  1  S     1.99912     1.99865
              2  SI  1  S     2.00018     1.97609
              3  SI  1  X     1.99372     1.96902
              4  SI  1  Y     1.99372     1.96902
              5  SI  1  Z     1.99372     1.96900
              6  SI  1  S      .91476      .41064
              7  SI  1  X      .66678      .59596
              8  SI  1  Y      .66681      .59597
              9  SI  1  Z      .66701      .59387
             10  SI  1  S      .16444      .28384
             11  SI  1  X      .07773      .26919
             12  SI  1  Y      .07768      .26920
             13  SI  1  Z      .07765      .26739
             14  SI  1 XX      .06243      .20977
             15  SI  1 YY      .06251      .20986
             16  SI  1 ZZ      .02728      .17364
             17  SI  1 XY      .00000      .00000
             18  SI  1 XZ      .07064      .08215
             19  SI  1 YZ      .07061      .08210
             20  H   2  S      .49551      .48881
             21  H   2  S      .60779      .52985
             22  H   3  S      .49551      .48881
             23  H   3  S      .60779      .52985
             24  H   4  S      .49555      .48884
             25  H   4  S      .60775      .52983
             26  H   5  S      .49555      .48884
             27  H   5  S      .60775      .52983

          ----- MULLIKEN ATOMIC OVERLAP POPULATIONS -----
          (OFF-DIAGONAL ELEMENTS NEED TO BE MULTIPLIED BY 2)

             1           2           3           4           5

    1   12.0012934
    2     .3963670    .7491736
    3     .3963670   -.0140976    .7491736
    4     .3963912   -.0140718   -.0140718    .7491733
    5     .3963912   -.0140718   -.0140718   -.0141249    .7491733

          TOTAL MULLIKEN AND LOWDIN ATOMIC POPULATIONS
       ATOM         MULL.POP.    CHARGE          LOW.POP.     CHARGE
    1 SI           13.586810     .413190        13.925359     .074641
    2 H             1.103299    -.103299         1.018653    -.018653
    3 H             1.103299    -.103299         1.018653    -.018653
    4 H             1.103296    -.103296         1.018667    -.018667
    5 H             1.103296    -.103296         1.018667    -.018667

          -------------------------------
          BOND ORDER AND VALENCE ANALYSIS     BOND ORDER THRESHOLD= .050
          -------------------------------

                   BOND                       BOND                       BOND
  ATOM PAIR DIST  ORDER      ATOM PAIR DIST  ORDER      ATOM PAIR DIST  ORDER
    1   2  1.481   .966        1   3  1.481   .966        1   4  1.481   .966
    1   5  1.481   .966

                       TOTAL       BONDED        FREE
      ATOM            VALENCE     VALENCE     VALENCE
    1 SI                3.864       3.864        .000
    2 H                  .971        .971        .000
    3 H                  .971        .971        .000
    4 H                  .971        .971        .000
    5 H                  .971        .971        .000

          ---------------------
          ELECTROSTATIC MOMENTS
          ---------------------

 POINT   1           X           Y           Z (BOHR)    CHARGE
                  .000000     .000000    -.000902         .00 (A.U.)
         DX          DY          DZ         /D/  (DEBYE)
      .000000     .000000     .001014     .001014
 ...... END OF PROPERTY EVALUATION ......
 STEP CPU TIME =      .01 TOTAL CPU TIME =         .5 (     .0 MIN)
 TOTAL WALL CLOCK TIME=       30.1 SECONDS, CPU UTILIZATION IS   1.76%
 100000 WORDS OF DYNAMIC MEMORY USED
 EXECUTION OF GAMESS TERMINATED NORMALLY Mon Nov  1 20:23:19 1999

DATA SERVER STATS: TOTAL DISTRIBUTED MEMORY USED (MEMDDI)=       0 MWORDS.
FIRST DATA SERVER'S MAXIMUM MEMORY=             0 WORDS, CPU=      .0 SECONDS.

ddikick: all processes have ended gracefully. 
unset echo
----- accounting info -----
Mon Nov  1 20:23:19 CST 1999
Files used on the master node ga.fi.ameslab.gov were:
-rw-r--r--   1 mark     gordon        408 Nov  1 20:22 /scr/mark/sih4.F05
-rw-r--r--   1 mark     gordon     360024 Nov  1 20:22 /scr/mark/sih4.F08
-rw-r--r--   1 mark     gordon     191256 Nov  1 20:23 /scr/mark/sih4.F10
0.530u 0.190s 0:34.46 2.0%	0+0k 0+0io 2818pf+0w





